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1. Vhich one among the following has | 3. ONGC Videsh [the State-owned ail

been included as a parameter for and gas company of indis) recently
the first time under the Nationai (Septeraber 2012 sipned 3. definitive
Ambient Air Quality Standards agreement with
{NAAQ S based on Central Pollution
Contol Board and (IT, Kanpur . je} Russia
research, WHOQ guidelines and
Eurgpean Union limits and .
practices? {b}] Azerhaiian
fc} Iran

fa} Sulphur dipcide
{d} South Sudan
i} Oxides of nitrogen

. 4. Which one among the following
f¢) Ozone ; regarding G-20 is not correct?

fa} A group of developed conntries
{d/ Carbon monoxide

fB} An integral part of the United

Nations
2. Fourth BRICS Summit, held in New .
Delhi in March 2012, deliberated on : {c} Outside the World Bank and
the chalienges faced by India for IMF
sustainable growth, Which one
among the following ja nof a part of fd) An offshoot of G-7

the formulated chalienges?

5. Which one among the llowing
countries initisted the process
of Fourth Wave of Democratic
Transition?

(o} binprovements required in
public sector management

) Inclusive growth

{a}] Libya
f¢} lmprovements required in b} Afghanistan
physical infrastructure
fey Tuaisia
{d} Develupmr:ut_in the agricultural
sector . {d} Morocco
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1. Ffafen # & e &=l wom Bdem
YT, fag Wt g ¥ fR

(NAAQS) ¥ 3l WA + &3 T oo
aw wiis fea w3t

fa} R TEATHELR
(b} IR F MFEEL
el AR

{8} wET WA - AEERE

BRICS Fira-amt # awiirg 3f% % e
ya & e It aeft ittt w e
wn o Tofafar ¥ 9 SR T
gEag ot w1 e =t &7

o) qESEE fFF WEaR F gun #
AT

b} W HYR
fe} Hifew SEEST T YUT

d) R a1 e

& w9 4 (Rer 2012) oNae fBEm
(e & 7=r £ wofims ot @ i
=) 3 B Ty ww Mules gl
v gEarer e 57
fal &8
b} AT
fe) $H

i) =lf ggre

4. G-20 & WAy 4 fatahea & & #9-m
T WE A R

fay FrEtia 3o % uE A2
fb} TIE Tg W6 F T A 30
) g d= S Ty % et @ e

{di G~-7 & TE W

5. Pmfhfaa 2wl 4 & fen = 4§ deafs
apmn W A T S am s @
B?
fa}ﬁ'ﬁﬁm

{b} AGIRAN

[P.T. 0.



6. Some  atheists, skeptics and 9. Consider the following statements :
non-elievers called to celebrate

‘December 25° as Newtonmas Day During the last week of November
instead of observing Christmas 2012, Palestinian engineers dug up
Day. The reason they propase that the tomb of Yasser Aralut. This was

done primarily to

{fa] both lsasc Mewton and Jesus . ; - . .
Chl’iﬂt were gr&at - placc g IetmAEs o A58L£T

- Arafaf in a mosgue compound

(b} Isaac Newton was born on 2.  confirm the prevailing suspicion
20th December that Tsrael had poisoned him

fc) “Skeptic Society’ was founded Which of the statements given
on 25th December above igfare correct?

fd} Isaac Newton was a deep fal 1 only
believer of Christianity

fbl 2 only
7. European Union’s Annual Sakharov {fe/ Both 1 and 2
Prize for Freedom of Thought
for 2012 has been won by ' fd} Neither 1 nor 2

faj Guillermo Farifias from Cuba 10. Rafael Madal woen the French Open

Tennis Tille, 2012. He defeated
{bf Nasrin Sotoudeh and Jafer nnis Title e ate

Panghi from Iran fa} Andy Murray
{c/ Ali Farzat Jrom Syria and fb) Roger Federer
Mohamed Bouazizi from
Tonisia f{:} Moval Djﬂkﬂ"lpfiﬂ
{d} Asmaa Mahfouz and Ahmed (d} David Ferrer
al-Senussi from Egypt and
Libya respectively 11. Which one ameng the following

was added in the year 2012 in the
list of World Heritage Sites of

_ _ —
8. The Rohingya are the minorities of the UNESCO?

fa) South Alrica fa) Western Ghats

fb) Canada (b} Agra Fort
fc} Myanmar fc}  Ajanta Caves
{d} Bhutan {d} Meenakshi Temple
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R F dem gz Gme & e od
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T0RE A 3! g
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fa) Fa 1

(b) & 2

e} 13\ 2 FA

fd) A 1Rad 2
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fa) wE A
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12, Which one amaong the fllowing

iz mof 2z salisnt feature of the
Campanies Bill az amended in the
yeay 20137

fa) For spending the amount
earmarked for corporate social
responsihbility, the company
shall give preferences ¢ local
areas where it operates

fif  Punishment for faisely
inducing a person to enter into
an agreement with bank or
financial ingtitution with a view
to obtaining credit facilities

fe; There 13 po limit in reapect of
companies -in which a person
may be appointed as auditor

fei] Independent diteciors’ shail be
excluded for the puorpose of
covaputing ‘one-third of retiring
directors’

13, FDI in Muiti-Biangd Retml Trade

{MBET) in al products is now
permitted m India subject fo

1. a ceiling of 31%

2. minimum amount to  be
brought in as FDIi hy the
foreipn investor is US $ 100
million

3. at least 50% of the
procurement of manufactured/
processed products should be
sourced fram small industries’

4. reteil sales locations set up
oniy in cifiea with a populatien
of more than 10 lacs

CDETA-N-HFL) 444

Belect the correct oondition/
conditions using the code given
below.

fa} 1,2, 3 and 4

B 1 and 4 only

e} 2 only

fdi 1, 2 and 4 only

14, Why wes Xaushik Basu, the

eX-ecomonnic advigor to¢ the Prime
Minister of India, in news recently?

He was appointed as

{a/ the President of the IMF

(b} the President of the World
Bank

{e} the Economic Advisor of the
United Mations

fd} the Chief Economist of the
World Bank

15. Who arnong the jollowing was selected

for the prestigious Indita Gandhi
Prize for Peace, Disarmament and
Deveiopment, 30127

faj Elen Jehnson Sirleaf

{6} FEla Bhatt

foi  Laiz Inacio Lala da Siva

f} Sheikh Hasina
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16. Consider the following statements

about Malala Yousafzaj :

1. In November 2012, she was
awarded with the DBravery
Award by the World Peace and
Prezpenty Foundation.

2. The United Nations declared
November 10 as ‘Malala Day'in
honour of her contribution in
the fieid of girle’ education.

Which of the statements given
above is/are correct?

@) 1 only
(&} 2 only
fe; Both 1 and 2

fcd) Neither 1 nor 2

1?. The President of India on 20th

November, 2012 released a
commemorative postage stamp on
the occasion of  Ramgopal
Maheswari’s birth centenary year
celebration. Which of the following
statements regarding Ramgopasl
Maheswar iz/are Ccorrecty

1. He is regarded as a doyen of
Journadiam in India.

2. He was a trusted aid of Netaji
Bubhash Chandra Bose and
helped him in mohilizing the
forces of Indian National Army
in Kohima.

Q-DETA-N-HFLf44A

1

1

. Why was
gr

=elect the correct answer using the
code given below,

fa} 1 onky
{bj 2 only
fe/ Both 1 and 2

{d] Neither 1 nor 2

Mention the odd man out.
fa) Didier Drogba
{2} Ohver Kahn
{c} Licnei Messi

{d} Cristiano Ronaldo

Australian  cricketer
Michael Clarke in news recently?

{aj] He  scored three trple
hundreds in the year 2012

b} He broke Sir Don Bradman
and Ricky Ponting’s records by
scoring four 200 plus runs in
test cricket in a calendar year

fef He remained not ouit in his test
appearances in the year 2012

{d) He had four double-century
partnerships in his last four
consecutive test appearances
in the year 2012
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4= iy w owe = ow@m W @ 3w
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fa) ¥ 1

b} Fa= 2

fe} 1#HR2IF
fd) AT 1 A IE2

18. ¥ & =9 =11 & Frm 27
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20. The Government of India hag recenily

made tt mandatory for oil marketing
comipanies to blend 3% ethanc)
with petral. Which of the following
isjare the lkely consequence/
consegquences of the policy?

1. Laower india’s dependence on
fossil oil

2. Reduge fiel import hill

Select the correct angwer using the
code given Delhw.

{a}
By

{5 Borh 1 and 2

[ aniy

2 only

fd} Neither 1 nor 2

21. Consider the following siatements

regarding  e-courts, launched

recently in India -

1. Threy will facilitate hearing of
vases via videoconferencing

2. They will folline the same
proceduras that are laid out for
the bench for hearing appeals
in an epen court.

Which of the statements given
above is/are correci?

fe} 1 only
bt 2 only
fe] Both 1 and 2

{d! Neither 1 nor 2

10

22. Who among the follpwing is the

author of the book, Suchin : Bom
to Bat—The Journey of Cricket's
Utimate Centurian?

fi) Khalid AH Ansard
{8 Boria Majumadar
fc;

Kiran Nagarkar

{d) Ed Hawltins

23. Who among the following isfare

the Indian writerls) short-listed for
the DSU Prize for Spoth Asian
Litetature for the year 20137

1. Amftabh Ghozh
2. Jeast Thoyil

3. Uday Prakash

Select the correct answer using the
code given below.

fu} 1, 2 and 3
B 1 and 2 only
fet 2 and 3 only

{d] 1 only
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2.

25.

Consider the iollowing statement -

“Rich countries have lurgely cheated
the developing countries of the 30
billion dollar of funds they hod
committed €0 transfer o the poor
ones between 2010 and 20i2.°

Which one among the following
relating to the above statement {s
not correct?

fa) The above statement is a report
out of Oxfam research

{b} The developed nations only
provided one-third of the total
funding

fc} Greem Peace  Intlernational
stated that it is a ‘false start’
than a ‘fast start’

{d} Oxfam’s research report says
that levels of public climate
finance are set to fall in the
year 2013 compared tc past
three years

Which one among the following
statements about Barack Obama js
notl correct?

fa} In the year 2012 he was
elected as the President of USA
for the second time defeating
the Republican candidate Mitt
Romney

(i}  He is the first African-American
President o U3A

Q_mz[m-ﬂm}muma
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27. Who among the

fej He is the first Democratic
President since Franklin D,
Roosevelt 1o twice win the
majority of the popular vote in
USA presidential election

fd} He is the only  American
President who won the Nobel
Peace Prize

26. During the last part of Novernber

2012, there was & severe fire
accident which took away the lives
of more than hundred people in
Bangladesh. The accident ocourved
inside a

fal textile factory
(B} jute factory

¢} poiythene manufactuting
factory

fe] cement factory

ioliowmg was
declared as the immediate future
President of China i the
18th Natipnal Congress of the
Communist Party of China held in
November 20137

fa} Zhang Dejiang
(b} Xi Jinping
f¢/ Liu Yunshan

fd} Li Kegiang
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28. Which

gne among the following

statements ahout Grigon Perelmen
is not correct?

(e}
(b}

(e}

(d}

29. Nobel
year

e}
(b}
fe}
Fed}

He is a genius from Russia
He rejected the offer of
professorship m Frinceton and

Stanford University

He works in the area of

Cosmoiogy

elds Medal' and the

E-‘T has refused to accept the
‘Millennium Prize’ recently

Prize in Chemistry for the
2012 was given for the work on

Giprotein coupled receptors
htiman stem cell cloning
antimalarial vaccine

neurotransmitiers

30. ‘Globa! Dimming’ means

faj

(b}

(<}

{d)

gradual  increase of the
temperature of ionosphere

gl:radual loss of biodiversity hot
spois

gradual  reduction in the
ampount of global direct
irtadiance at the sarth surface

gradual increase in the melting
of|ice in polar regions

Q-DETA-N-HRFL/444A
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31. Qutstanding

historian Eric
Hebshbawm whe  expired  on
1st Oetober, 2012, has authored g
large number of books. The title of
his famous autobiography is

{a} Bondits

(b} Uncommon People : Resistance,
Rebellion and Jaz=

fc) The New Century @ in Conver-
sation with Anfonio Politg

fd) Inferesting Times : A Twentieth-
Century Life

32. Which of the following institutions

was/were asked by the Government
of India to provide official estimates
of black {unaccounted) money held
by Indians, both in India and
abroad?

1. DMNational Institute
Finance and Policy

of Public

2. HNational Council
Economic Ressarch

of Applied

3. National Institute of Financial
Management

Select the correct answer using the
cede given below.

fa) 1 only
{&} 1 and 2 enly
fc} 2 and 3 only

fd} 1, 2 and 3
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33. The cofqcept which tries to ascertain Belect the comect answer using the

the attual deficit in the revenue code given below.
account after adjusting for

expenditure of capital nature is fa} 1,2 and 3
termed as

b 1,2, 4and 5
fa] repenue deicit

fo} 2 and 3 oniy
(b} efiective revenue deficit

{d) 1,3, 4 and s
{o} fizpad deficit

36. Which one among the following is a
fixed cost to a manufacturing firm
m the short run?

fd} primery deficit

34. Which pne ameong the following
prograhmes  bhas now  been

restructured ag the National Rural .
Overtim
Livelihond Mission? (b} ertime payment to warkers

fa} Insurance on bhuildings

) fo Cost of energy
fa)  Swama Jayonti Shehn Rozgar

Yorana (d) Caost of raw materials
(b} Swama Japantt Gram
Swihwrozggar Yojana 37. The government ecan influence

private sector expenditure by
{¢! Janshree Bima Yofana

1. taxation
fd] Rashiriya Swasthya Bimo 2. subsidies
Yofana
3. macroeconomic policies
4. gran
35. Which of [the foliowing are included ts
ind-th: tategory of direct tax in Select the correct answer using the
g

code given below.

1. Corgoration Tax
fa] 1,23, 3 and 4

2. Tax bn Income

3. Wealth Tax fbj 1,2 and 4 only
4. Custbms Duty fe 1, 2 and 3 only
5. Excis‘e Duty fd] 3 and 4 only
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A By sz = owW oW BRI
3hm

fo 1, 2 3 3

Bt 1,2, 4#HRS
) Fe 23R 3
fdi 1,3, 4#K5

36, Ffafias § 4 -6 o= fadt faFmfn

SHEE TS T sowan ¥ Fre s e
14

fa) T

(b) FTE R AENEI EE
o == & T

{d) == T #i T

37. R Fish g9 = = fead g warfaa

Eak:cik 4

L. TR

2. IWE

3. TiE-anfis fifket

4. A
ﬁm‘m@m@ﬂﬁqﬂm

.gﬁQI

fa) 1,2, 3 ¥4
M) Faw 1, 23K 4
fe) Faw 1, 233
(@) A 3 34
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38. Which of the foilowing occupations

are inchuded wunder secondary
gector as per the national income
acocounts?

1. Manufacturing

2. Constructjon

3. Gas and water supply
4. Mining and quarrying

Select the correet answer using the
code given belaw.

fal 1,2, 3 and 4
ftj 1, 2 and 4 only
fe¢ 1, 2 and 3 oniy

{d} 32 and 4 only

The sharp depreciation of rupee in

the Forex market in the year 2011
was dpe to

1. fh ght to
investors

safety by foreign

2.  meitdown in European markets

3. inflation in emerging market
econdinies

4. lag effect of monetary policy
tightening

Select the correct answer using the
code given below.

fa} 1, 2 and 3 oniy
B} 1, 2 and 94 only
fet 3 and 4 only

[dj 1,2, 3 and 4

'A-N-HFL{ 444
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41, Humen  Poverty

40, The lower growth of coal production

in India during 2011-2012 was
primarily due to

1. emvironmental restrictions

2. non-availability of
clearance

forestry

3. poor law and order situation in
coal-producing States

4. excessive rainfall in coal-

mining areas

Seiect the correct anawer using the
code given below.

fal 1, 2, 3 and 4

{b) 1,2 and 3 only

fef 2, 3 and 4 only

fdf 1 and 4 only

Index [HFI)

developed by UNDP is based on
which of the following deprivations?

1. Income deprivation
2. Literacy deprivation
3. Borial zervices deprivation

4. Employment deprivation

Select the correct answer using the
code given below.

fat 1,2, 3 and 4
B} 1, 2 and 3 only
fo/ 1, 3 and 4 only

f) 2 and 4 only
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42T In, the Gupta age, Varahamihira
wrote the {famous book, Brhot
Samhifa [t was a treatise on

faj Astronomy
{b) Statecraft
fe)  Ayurvedic system of medicine

fdi Eccnomics

43.| The highly polished monolithic
Ashokan Pillars were carved out of
single pieces of a buif-coloured
sandstone, usually mined from the
quarmies of

fa}. Chunar near Mirzapur
fb} Lawriya in Nandangarh
fe} Samnath near Varanasi

{d) Udayapiri near Bhubaneswar
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44. Which one among the following
statemnents with regard to  the
Mational Security Council [NSC) of
India is rot correct?

faj

(b}

fef

e}

45, The

It is a three-tiered organization

The Deputy Chairman of the
Planning Comimission is its
member

It is the apex body looking
exclusively the security
concerns of ihe country

RAW and Intellipence Bureau
iindia} report 1o NST

fortification of Caleutta by

the British in 1756 was regarded
by the Nawab of Bengal Siraj-
ud-daulah, as

fa)

(&)

e}

(i}

growth of large-scale British
trade

an attack upon his sovereignty

inzecurity of the Brtish in
India

British control over Bengal
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46, Between 1309 and 1311, Malile Kafur
led two campaigns in South India,
The significance of the expeditions
lies i il that

I.  they reflected a high degyree
of boldness and spirit  of
adventure on the part of the
Deihi rulers

2. the invaders retumed to Delhi
with uniold wealth

3. they provided fresh geo-
graphical knowledge

4,  Ala-ugd-din promoted Malik
Kalur to the rank of Malth-noib
or Vice-Regent of the Empire

Select the correct answer using the
code given below.

fa} 1 and 3 only
21, 2 and 4 only
fof 2 and 4 only

@i 1,2, 3 and 4

47. Ibn Batuta's work, Rihla, completed
in 1355, iz

fa) an autobiography

(b} an account of the Delhi
Sultans  irom  Aibek  to
Chiyas-ud-din Tughlug

{¢) a religlous lext

{d} an account of trade with
MWMorocco

O-DETA-N-HFL/444

48. Beveral socvio-political orgamzations

were formed in the 19th and 20th

Centuries in India.  Armjuman-e-
Khawatince-Islam  founded in the
year 1914 was

fa) All  India Muslim Ladies
Conference

[y a radieal wing of the All India
Musiim League

fe) Al Tndia Muslim Students’
Conference

felf  All India Islamic Conference

49, BEntizh colonialism in India saw the

emergence of new cities, Calcutta,
now Kalkata, was one of the frst
cities, Which of the following
villages ware amalgamated to form
the city of Calcutta?

@l Midnapur, Chittagong,

Burdwan
(b} 24-Parganas, Kalikata,
Thakurgaon
fe]  Suatanuti, Kalikata,
Gobindapur
(d/ Midnapur, Thalourgaon,
Gobindapur

50, What was Ziyaraf in the language of

22

the Sufis?

{a} Pilgrimaﬁe to the tombs of Sufi
sainta for seeking borket
{spiritual grace)

(b} Reciting divine name

fe) Offering free kitchens run on
futuh fanasked for cherity)

(dl Setting up of augef (charitable
trosts)
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51. Which of the following wae /were not
relaied to Buddha’s life?

1. Kenthoka
2, Alarg Kalama
3, Channa

4. Goshala Moskariputra

Select the correct answer using the
code given below.

Statement 1T -
Chandragupta Maurya joined the
Jaina order as 3 monk.
53. Statement [ :
Mahavira initially joined a group of
ascetics called Nirgranthas.
Statement II :

The sect was founded 200 vears
earlier by Parava,

fa) 1 only 54, Statement [ :
fb) 4 only Lomash Rishi and Sudama caves
fo} 1l and 2 in the Barabar Hills, modelled on
fd) 3 and 4 wooden architectural prototypes,
are examples of the earliest cave
Pirsetshe:: architecture in India.

The following six {6) items consist of two Statement IT :

Statement I iz the correct
explanation of Statement I

explanation of Statement I

Statement [ iz tya=

52. Statement [ :
There was great exodus of Jains
monks under the leadership of
Bhadrabahu to the Deccan
following severe famine m the
CGanga Vailey towards the end of
Chandragupta’s reign.

D-DET4-N-HFL/44A
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statements, Statement | and Statement 11 Barabar Hills caves  were
You are to examine these two statements dedicated by  Chandragupta
carefully and select the znswers to these Maurys to Ajivika mornks.
items using the cede given below : 55, Statement 1 :
CHdss Bculptures  of the Gandhare
School stylistically are typically
¢} Both the statements are linked te the Graeco-Roman and
mndividually true and the Parthian art of Iran.

Statement II :

The eatliest stone Buddha

& Both  the  statements  are images in the Swat Valley
individually — true but pre-dated the Kushana petiod
Staternent Il is not the corpect which suggests that certain

iconographic conventions wete

fcj Statement [ is true but already well-eztablished in the
Statement II is false pre-Kushana period.
{d) Statement 1 is false but 86. Statement ! :

The Permanent Zamindari Settie-
ment of land created a new class of
landloris.
Statement II :

The new class of landlords became
strong political allies of the British
and were (aterested in the
continuance of British dominion.
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E87. Statement I -
Chlavine radicais (C)Y) initiate the
chein reaction for ozone depletion.

Statemment IT :

Gasecus hypechlorous acid and
chlorine  are  phatolysed by
sunlight.

B8. Which chemical was an important
symbaol in our struggle for freedom?

faj Glucoge
{B] Fertilizer
fc}  Medicipe
g} Sodium chloride
B9. Which one among the following is
responsible for the expansion of
water in the ocean?
fo} Carbon dioxide
{&! Nitrogen dioxide
fej Carbon monoxide
d} Sulphur diexide

60. Food cars are coated with 1in But not
with zinc hecanae

fa} zinc is costiier than tin

{B} zinc has a higher melting point
than tin

(¢} zinc is more reactive than tin

fd} tin {8 more reactive than zine
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&1. Which allotropy of carbon is in rigid
three-dimensional structures?

fa}) Graphite

(b} Fullerene
fe/  Diamond
¢} Carbon black

62. What is the role of positive catalyet
in a chemical reaction?
o) ltincreases the rate of reaction
(b} Tt decreases the rate of veartion

fe} 1t increases the yield of the
products

{d} It provides better purily of the
products

63. Why hard water does not give lather

with soap? :

fef Hard water comtains Ca and
Mg ions which form precipitete
with soap

(b} Hard water contains sulphate
and chioride ions which form
precipifate

{e!  oH of hard water is high
{d) pH of hard water is less

"

64. Which one amoung the foliowing
metals is tised in fireworks 1o make
a brilliant white light?

fa) Sodium
b Magnesium
e} Alummiam

fd; Silver
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65. Which of the following gases in the
atimosphere is/are respongible for
acid ains?

I, Oxides of suiphur
2. O=xides of nitrogen

3. Oxides of carbon

Select the correct answer using the
tode given below.

fa) 1 and 2 only

fb) 1 and 3 ooly

fcb 2 only

{dj 1,2 and 3

§56. Which one among the following gases

readily combines with the hasmo-
glohin of the blood?

{a} Methane

{6} MNitrogen dioxide

fej Carbon monoxide

{d} Sulphur dioxide

67. In human, which one among the

following, with reference to
breathing, is correct?

fo} During wnhalation, diaphragm
relaxes

{b} Duaring exhalation, thorax
cavity expands

{r] During inhelation, intra-pleural
pressure becomes more
negative

fd Unlike inhalstion, normal
exhalation is an active process
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68. Dual-energy X-ray absotptiometry
(DEXA) i=s used to measure

(el

2pread of solid tumour

fb} bone density

fel

LUicerous growth in stomach

fd) extent of brain haemorrhage

69. Human blood is a viscous fluid. This
viscosity is due ta

faf
fiet
{e
fei}

proteins in blood
piatelets in plasma
soditum in serum

RBC and WBC in bicod

TO. Cancer is more common in older

people hecause

ey

fbj

{c}

(e}

their immune systems have
degeneratad

the supply of certain hermones
declines with age

their bodies are unable to
adjust to the changing
envirpnment

they have accumulated more
mutations

71. What would happen # human blood

becomes acidic {low pH)?

faj

(o]

fc)
(el}

Oxygen-carrying  capacity of
haemeoglobin is increased

Oxygen-cartying  ¢apacity  of
heemoglobin is decreased .

RBC count increases

EBRC count decreases
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72. Which one among the following

gtaternents about hlosd wansfasion
g Corrent?

Blood group B can give blood to

fa} blood group B, and recefve
from group AB

B} biwod groups B and AB, and
recetive from group 53

foj blood groups B and AB, and
recive from group A

fd} hlood gmoup O, and receive
from group B

73, Confirmation of the opresence of

Higgs bason wall justify

fa} both the standard model and
supergiring theory

{5} the unification ol all the four
fundarnental forces

fcf the ateadv-state model of the
universe

{df the maass of the fundamental
particles

74. The  gastrointestinal  hormones

pamely secretin  and  cholecys-
wkinin  secreted by duodenai
epithelium  activate respectively
which organs to discharge their
secretions?

fa@) Pancreas and gallbladder

{p} (Gailbladder snd stomach

lcy Pancreas and stomach

fd} Sromach and small intestine

TS. Bilk is unigue in its nutritive value.

However, it is a poor source of
fa) calciom

&) iron

ey copper

fd) sodium
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76. Consider the following statements

regacding antibiotics :

I. They are wused to destroy
diseqee-causging bacteria,

fur

They can be applied to the
gkin, swallowed or injecied to
fght microorganisms  inside
fthe body.

3. They are effective against
diseage-causing viruses.

4. The frst antibiotic to be
tiiscovered was tefracychine,

Which of the statements given
above isfaye coriect?

faj I and 2 oniy
by 1.2 and 4
fo] 2,3 and ¢4

id7 1 only

77. In terms of magnetic properties,

awygen belongs W

fa) mapgnetic materials

fbi  ferromagnetic materials

{r] paramagnetic raterials

fd) diamagpetic materials




————*

72. ?ﬁ?—mﬁ%ﬂﬁﬁﬁ‘qﬁfﬁﬁiﬁﬂﬁﬁﬁ
F - T w37
R R

faf TR @ B F R T wwar & oain
T AB # & T3 2

b} *x T B 2fit AR ) T 2 Tmyy
Eruiwi B A gz 2

fc} Wﬂ'ﬁmaaaﬁsﬁtém
2o At AQ D BT S

fd) ¥R Tt 0 A W L wHw 2 o
ST BA o

ﬁ,%ﬁﬁﬁqﬁmﬁlﬁaﬁgﬁﬁw
g fag # 07

fo) WHE NitEn 3 arfes fagre S
il

(&) & =i 95 == ¥ vhmow @
fel TR F vl w0 wfEen =
fd} TE 0 ¥ T

74. T SUREl S wRm dela she
FRARREER % et 2R T
oo st 3t 3% et =1 el 3 &
fome wfeg w23 &7
fa) =R 3 fare
fb) Trarm s s
fc} mETTE A et
(dj w3 it gmr=

75. T AT TNE A & T detg #) faw o,
RERER:CoRies =

fa) FHehnm
) e
fc} am
id) difgan
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wﬁ.wﬁlﬁﬁaﬁaﬁaﬁﬁﬁmﬁﬁfmwﬁm

ﬁﬂl’(ﬁﬁ:’f‘{:

1 32 Im iy w03 et St = e
ot & T i 3w S 2

2. T WRF = ¥ yeoehal & @y
%%ﬂﬁﬂmmm%,
FTe o mem ¥ s s
B <1 amar 2

3. %ﬂnﬁmﬁ%aﬁﬁﬁmaﬁ%
faars waE 9 )

4. w4 vEd smfeEA fem S T
AersTa® TR ol

R m owt § -/ ud
2f7

fa) F=T | 3 2
Bl 1, 23 4
fep 2, 3474

{d) &I 1

77. THE T F SnuR W sieie @

e Pead 37

(a) Fackim ol &
(b} wR-grasbia varel
fo)  TTFEN wEm @
fd} wiorgwaeiny et &

[P.T. 0.



. Light-emitting diode [LED) converts

faj Ytight energy into electrical
energy

(b} clectrica! epergy into light
ENCTEY

fc?  thermal energy o light
eneriay

{d} mechanicad ERergy into

electrical energy

79. |The Celzsius temperature 1s a/fan

fal

{h} absolute temperaturs

relative temperature

fe}  specific temperamre

df appronimate temperature

84, The ga= used in a refrigerator is
) cooled down on flawing
} heated up on flowing

cooted down when compressed

fdy cogled down when expanded
B1. I |twe conducting spheres are
separately  charged and them

the tgtal energy of the two
apheres i3 conserved

the total charge an the tweo
spheres is Conserved

b}

fc} poth the total energy and the

tal charge are vonserved

he final potential is always the
n of the orginal potential
f the two zpheres

fd}

3z

82. Which type/jtypes of pen uses/use
capillary action in addition io
gravity jor flow of ink?

fe} Founilain pen

(B} Ballpoint pen only

fe! Gel pen only

fd} Both ballpoint pen and gel pen
83. Nearly 300% of the solar radiatiops

return Pack fo the space without

contributing anything 1o the earth’s

surface temperature. This amaount
of radiation is known as

fr}  bilack body

{b} tropopalise
fo}  earth’s albedo

fd}

Mesopalse

84. The crew and passengers of a flying
aircraft  sufler  generally  from
chronic  obstructive  pulmanary
disease due to the effect of

fa) solar radiation
fby Dzone concentration
fo]  nitrogen omde

e}

partivalate polhutant




78. W T EHls (LED)

fa) FFr Fui 5 Tge 391 § v
T

(b} Fn T B v 9 § wurafe
A &

] ¥Ea & w5 www FEf §
T A &

{Q) TEF I N Agn A T st
T 2

79. Hfeway faE
feej TR HRYET AR 3
fb) oF Tt e 3
i} oE fafie v 3
{d) TF hET a2

80. &Stz o witn it w1 areh Hw
fap FoTE & w0 Tt Sidt 2
fb} TaTE % FRQ TE S 2
fe)  wdifes w0 R wafom a &
(@] Tafts 3 @ wates 36 2

81. TRk T IETE M Iwr-=Er SRR )
el oA B ek S am e, @

fr) S A R wege e acug e

YR R
@m

fcj w0 7 R @yl smam 9
Fium wm

(d} fm fem W@ 3 GEl % um
ET % M % e a
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82. = ¥ waw & e /P mesed
/& W, Ted & TH-gr7 S0E Gy
1w AR
fo) TR iy
(b} FaE Fe-vigm 4y
oy FF\ S

(e} AG-9ig= A7 3yt o1 37 St

83. & fafew 1 adr-wtm 30% WM, et
%9 % A & Tt aw w1 dmem B
farm, ST A e wen e 2 i
ﬁaﬁﬁmﬁmmﬂwaﬁﬁ?
faj Fisin
b} sEbEta
fo e

{4} Ty

84. 3z FIW F wEw &w e ah
AT vl st wepdt At @
7T 3 96 &1 1 ek wws § B 27
fe} H futEm
{6} A
fo) ST TR

{d) =i T
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85. Match List-1 with Lisi~IT aod select
the correct answer using the code
given below the Lisgs -

List-I Ligt—-if
{Agent] {Disease}
Arsenic . Fluorosis
Fluaride 2. Melanosis
Diust 3. Preshycusis
Noige 4. Silicosis

Code :

86. \Which of the following statements
regarding recycling is/are corract?

Recycling is just the coliection
and geparation of the waste
materials.

Recycling is the collection and
separation of the mateddals
from the waste stream and
their subsequent procvessing o
produce a marketable product.

Recycling leads to veduction of
waate disposal cosat.

Select the correct anewey using the
code ziven bDelow.

fal 1 oniy
fB} 1 and 2
gt 2 and 3

@l 1 and 3

B7. Which one among the following

Intian  rivers  originates  in
Maharashira and flows through
Kamsataks and Andhra Pradesh to
meet the Bay of Bengal in Andhra
coasl?

{a} Mahanadi
B Caavery
fc! Hrishna

fdi Godavari

£8. The planetary winds that blow from

the subtropical high-pressure belts
to the Egvator are known =23

{a} westerties

By doldrums

fe} polar winds

{d] trade winds




85, ol = - A yEiE Dy

qREt & A By o = win = ad
EHT@TI,.
- -1
{=) (@)
A, AW 1. Senifee
B. FgARES 2. doifyE
C. € 3. TEnwiE
D. ¥ 4. faleifag
e
W A B € D
301 4 2
@ A4 B C D
3 4 1 2

fel A B C D

L~
+
58]

i A B C D

b
B
—
74

86. TFT ¥ R § FefulEr e # R
a_?ﬁ—mfﬁaﬁ%fﬁ?

1. s wafine el = A i
R AT B |

2, Y, Y AEE # qegrdl &
Fogm offe GuERy, F9 ATER FE
g R T § fm T
FreRA w3 2

3, QI F Fw il f e
e H gt 2
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I fw e w2 w ¥4 @ md I
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frr) e 1
b} 1 3R 2
fe] 233

fdy 13

g7, wed # Pl - v 4, Taae

q 3 oo oiew sl s v B
T, WE 92 W 9w 6 @ ¥ fiw
= B

faj WEFST

B) FEl

88. WO Y=RE SR ¥ vHwE R S

et JuEEl O A T SR 81
fo) T w=A
(b} SrTgH
fe) et
fd} =t 9\
[F.T. Q.




85.

w1 F g ¥ gifem ART SR

gt & R Re T 32 W W W E
Wﬂﬁﬂ,r
-1 IR
() (z)
A, amdf= 1. wgairfing
B. waetRE 2. e
C. @ 3. YEEEpEE
D. Y 4. Tl
;g
fa) A B C D
3 1 4 2
B A B C D
3 4 1 2

86. T & W0 4 Prafefas s 2 4

T—v—mf% wgi /87

1, T sfe gt S e W
T T
3 SAwma, st T ¥ Tl
RIEW A apET, AW] AR WY
e TR S & fom =
HHCA FAT 8

3| g ¥ wne il # FEs
@ F St g B
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fo}  HEE ]
by 1 3 2
fef 233
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87. uq i Fraflean Fo-A T 79, Tey

3 TyE A FHEE ORI W N S
FqEHA, iy 8 § W i wet 0 e
it 27

fa} HEEEL

b} FEG

{6 F

() TRl

8. I IFerg Flewdl A YAWTET d AR

2 T YHSTTA T W A e 87
fa) R O
b} I
e} wAm a
() = g=
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8o. o = w4 pifem $fr on 9. IS F FE-§ W F 8- el =

gl % e R m e o w=owd
By Tald & =mm feemr O 3¢
fa) 49
ang—l -1
{amu) () foy Tgertia &z
A. IEE Am 1. ="
B. =TEg oy 2. o o S s
C. WA W A 3. waww CUIESS Sa A Lo S ich s
D. wER gl 4. T {mH)
w2 92. FH Ie vl © v T TN Tee we
faf A B C D e i 37
i 3 2 4
fw} =B wmre oo ofifm o
b} A B T D AT
1 2 3 4
fr T & iy yfih 21 ame
ol A B C D :
4 3 2 1 fo} IR FW F Ww qfifmr o
N
} A B C D
4 3 3 1
fd) T s AR 48 # 3w e

90, Freifatea 3§ ¥ f-d w fine = 3. Tfafas § 4 F9-w w memrd amsd

g 27

fa) FHt 9w
b AT U
fe} YEE HRT

fdy FUEE g
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fa) TSR

(b} eI Wel % aamA # &
fzy  geEt # yiGEA

fdy FEEA 1 g it T
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. Which one among the foliowing
statementz about the International
Date Line iz mot cgrrect?

fa The International Date Line ia
largely hased om the 180°
meridian

The difference in {ime between
the places juay eitiher side of
the International Date Line is
almost one day

B/

The difference in time 1o the
extent of one day on either gide
of the Internationa! Date Line
is caused by inclined axis of
the earth

fe}

The International Date Line
mostly passes through the
Pacific Ocean

felf

5. |If the time of 8 place lagated
pn 165° E meridian 1= 11000 pom,
on Sunday, what would be the time
at the place iccated on 165 W

meridiant
fa
&}

11-:00 p.m. on Bunday

12:00 noon on Sunday
1:00 a.m. on Sunday

11:00 poo. an Saturday

96. ich one among the following is

¢ an igneous rock?
Grarite
Basait
Gabbro

Gnelss
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97. The Karewas of Kashrir refers to
which among the following types of
deposits?
fa} Aeclian and glacial
(&) Fluvial
fej Lacustine
fd} Volcanic

98. Match List-I with List-II and select

the correct answer using the code
given below the Lists :

List=T FET |
{Fiac=) {Location in Map)
A, Kollam
B. Tuticorin
C. Ongole
D. HNellore
Code :
flef A B C D
2 3 4 1
b} &4 B € D
2 4 3 1
fog A B C D
1 4 3 2
[ A B € D
! 3 & 2




N

94, Hwigm B e 4wt ¥ Pefaie | 97, =i 7 watane Tfafar § @ g W@

W FA-F1 T YA 3 % Frdiy &) e e 27
@) g R s fa) aTarg win e

180° TR 9 SnufE

: b T

o) walhn fts v ¥ O 94 e

WAl & d9 wme v o B fey Ay

= 3

d) Ty

fe) TR B a9 e T
5 9% = werm, o= 3 amw

el % P E 3 98. W W Wil # wifem i
. qfemt & 44 fuow g W e % ed
fd} wwiE o @ sl 3w g :
g1 g1y
95. IRk En #1 165° B e W andr e {wraRrE % )
frft ®R = @ 1100 79 s b A. e
A 165" W IR W A@Effn =R w®
T A T e B. ot
(@) VAR F 11:00 92 AR
C. FiiE
) RER = 12:00 7 A
fo) TEER W 100 TN @R D. g s ot
fl} XA FT 11:00 T AFE '
Fe
96. Pmfufya 3 2 ¥-w w5 wdw dw T fag & B € D
a7 2 3 4
) A B C D
faj 2 e 4 a1
fbp HTERE i A B C D
1 4 3 2
fey
fd) A B C o
GO 1 3 4 2
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‘the Onge’ live?

fef Little Micobar
fd} Great Nicobar

faf Cdisha
fhi Tamil Nadu
fct Hamataka

{al Novth Andaman
fb} Littie Andaman

. Veliconda Hills, which is a part of
Eaztern Ghats, iz situated in

{d] Andhra Pradesh

99. CGn which one among the following 102. Consider the following siatements :
islands does the Negrito tribe called

I. In any netion, human develop-
ment outcornes are a function
of economic growth, sacial
policy and poverty reduction
measures afi the macro-level,

o

The expansion of human
development in term3s of health

and edocation  aftainrnent,

reduction of inctrne poverty

and economic grawth is linked g
v 4 synerpstic manner.

3, Investment in  hesith and
education can enhancs hurman

functioning which can
101, Maich List] with List~il end select eveniuaily Iailamtte income
the correct answer using the code Fﬂ‘fﬁi‘tﬁ bty improving emnploy-

given below the Lists ; ability.

Lised Lisi~if 4. Resvurces generated throuph
{Cement Production {Srate] income  poverly  reduction
Centre} and economic growth can
% be used t¢ enbance buman
R L ataka development. -
B. adrawatl 2. Jharkhand
. 3. Guja;‘af_ Which of the ataiements gj-wn !
above are logical and correct?
D. rnonl 4, Andhra Pradesh
ode -
M A B C D @) 1 and 2 only
3 1 2 4
A B € D fboy 3 and 4 only
2 2 1 4
A B C L]
4 3 5 3 fol 1,2, 3 and 4
A B C 0D
4 2 i 3 fd} 1, 2 and 3 only

-DETA-NHHFL{44A




g0, Foitsfas %9 o v S w "o 3w

A senfa w27
fap I 3TOEEH
) fals swenm
jo Toafem Beam
i 3z Faden
100. fersist e, s & o= 3w w3,
=7l apfar £1
fa) SffEaT
oy afierTE
fo]  wAlTE
fd} arig w3
Wi, o1 w gl & FEfaa dihm o
gfem % =¥ fiu e gz = wn = ol
W‘gﬁl{,

-1 -1
Ry (=)
A T I
B. TEA 7. WEEeE
C. I 3. T
D. T 4. g R
T4
@@ A B € D

3 1@ 2 4
B 4 B © D

I 2 1 4
g A B € D

4 1+ 2 3
A B C D

4 2 1 3
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102. Fefefan =t = freaw iR -

1, Tt e A aem faem ¥ aftons,
afis fawem, =wrfes A% 7w
= T R § i e
J9AT T

2, = o fien meedl s,
sm-fdam & s sw ol
fFarg & w0 3§ oy Bew 3w
wEfwaers i § weag )

3. w=ney gar Ben ¥ 8w are-fem
Halg &= g2 & "vm &, S
Frrerimat § gar W= am-Tda
T afa: S 5 a5 2

4. wm-fsam ¥ o) W il
frra % wmam § Sfve danEl =
I, Ay w4t 9ty 3y few
= B )

F fou o el § § S48 SO a9
w7

jo) FEE 1 3R 2

by ¥ 3 37 4

fcp 1, 2,3 34

) FFH 1, 2R3

{P.T.0.




03, Whether India s  experiencing
Incipsive growih in the frue senase
can be assessed by looking at

1. the gconomit growth indicators
of the different States of India

2.  whether different social groups
ke the SCe, 8T and Minorities
are getting excluded from the
developynent process

3, whether the povernment’s
various flagship programmes
are reaching the socially
exciuded

4, State-by-Staie puman develap-
ment profile

Select the correct answer using the
code given betow.

} 2,3 and 4
2 aod 4 only

1, 3 and 4

104, Besides representation, the
Parfiament of India js alse a
deliberative body with diverse

ionz., Which one amang ihe

Parlipment of India?
fa} VYentilating the grevances of
the people
b  Executing major poltcy
ddcisions
Q-DETA-N-HFL/444
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foi  Holding the govermment
accountable for ita actions and

gRpenditure

(£ Amending the Constitution

185. Which one among rhe following
statements iz not correct?

fa) The right conferred oy
Article 32 cannot be suapended
excepl Wy virtue of Article
359 |1} of the Constitution of

India

The enforcement of Articies 20
and 21 cannot be suspended

f&

{c} Pumishments can be prescribed
by a State |egislation for
afferices under Part [ of the

Constitution of India

fd} The Fupndamental Rights can
be abrogated by law made by
ifie Parliament with regard to
members of the forces charged
with the mawmenance of public

order




103, IR d e Rewm v s 2 B &

WO, W TR FROWES g
wad £

1. wwa E Frlies ol & afils Ry
HOw

2. & wr smiw =R, sefe

T e aEn L aReEa e

3. & = wam % Rbm opet
wrlEa wwles s 2 whga o=

EHEE
4. w-ER A e it

IR B g owm owe e oud oo

e & e, ffe oeet & Am
mﬁm%ﬁmﬁﬁw‘wﬁ%a
ihes % § PSR- & WRe @ A

104, 1

fes) # fremadt o I a=l

by ey -t o Beaar
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e} 3 wmE ud g o B wmen @
FAWEE BT

d} = gy

105, FrRias sl § 2 - v ol o
14

) WA F ThRE & Iy 350 {1)
% Sm ouveEtim ¥ owEw fEm
IR 32 oo owE AiuER
Fmfeee et B @ wea

fop AW 20 R 21 % WA &
Tt ol B W oEm

o s % e % owm 0 ¥ ke
Wl % o s Rue on e
fatin B = o &

() S SgEen ¥ e B yEn @y
W ¥ Frel T weey A wEE T0
R ST E e Wil B
T T =1 o9 @ '




106, The Government of India Act, 1919 108. Who among the following was not
associated with the foundation of
1. established A bicamerai the All India Trade Union Congreas?

legislature at the Centre
faf M. M. Joshi
2. imtroduced dyarchy in  the
provinglal executive fi  Lajpat Rai

3. imtroduced a federal system of fop V. V. Giri
government in India
{2} Joseph Baptista
Select the correct answer using the

code given below. 109. indias lLook Fast Policy was

contelved in the early [990s at a
time when [ndia was In the
brocess  of adjusting to  the
post-Cold War watershed changes
B} 2 and 2 only in the iniernational geostrategic
envirenment. The Look East Policy

fap 1 and 3 only

e} 1,2 and 3 1. reflects both historical
impreratives and contemporary
fdj 1 and 2 ounly compulsion of the post-Told

Wer new world order

2. seeks to optimize India’s
107, Which one among the following is a synergies in the extenided Asia-
Fundamental Duty of citivens under Facific neighhourhood

the Constdtution of India? ’ —
3.  Dhas led to India’s participation

in  Asia-Pacific forums like
fa? To provide friendly cooperation

; ASEAN, PFast Asia Summit, :
o the people of the neigh- BIMSTEC and other
bouning couniries institutions
b To wisit the monuments of Select the correct answer using the
" national impartance code given below.
fef To defend the couniry and fa} 1 and 3 only |

ender national! service when

called upon to do so b} 2 and 3 only

£ 1,2and 3 i
} To know rnore and more about )
the religions of Indi= fd} 2 only
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06. 1219 % Wg w=w wufmg 3

1. &g 7 aslg Bam oo waflw
ey

2. urfe wewtol 3 Rmmr s
T

3. VIO A Tty mEe-nonEtt 35 A
T

4= T om w2 ¥ w9 W oad I

107, |9 & @i & anfia, Al & B
frafafigs § & wm-m o 59 wis B7

fa) e 30 & =T o e W
T FEA

w1, 7= o 39 8y IER Fea g

fd} AR % R ! ST W
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108. 3 ¥ %1 wia sz & 3P Siis
TN B Beed TE 917

fa} o Tho Himh
fb} wITA TR

fe) dte dta iR
[y AT ataTa

109, wie = qEinnpd Ay Fi 1990 F T
& yafers adl & 29 Wl dEven )
ff 9 wNE Faite g-amf whEw §
IW-TgEERty Raes shadA % o
T £ i § o wifogdt AR

L Iw-viegamd o s
fagTiys sifrarimetl v wsTels
oA I ) i §

2. Tgm Bt vidw &

1 wehrmad % Eadreln #1 9Em
=l 8

3, oMW W $1 ASEAN, 1@
win Bret-awi, BIMSTEC ¥
9 Teget 7 g it #
v g 2

= R oz W owEa A wf S
g

f) A 1A 3
b AW 2 M2
¢ 1,233
fd A 2

{B.T.O.




110Q. In his lectures on pnationalism, 1i2. Which one among the following

Rabindrapath Tagore argued that Committees of the Padliament of
India has no members of the Rajya
1. nativnalism  frees men and Sabha?

women from narrow loyalties
and bonds, and connects them
to wider and better community
of fellowship {a} Public Accounts Committes

2. natignalism wilt foster a feeling
of rootedness and cultural
belonging, and put an end to
wWarmangering

{6/ Estimates Commitiee

|Select the correct answer using the o} Public Undertakings Committee
ode giver Delow,

&5 1 onl {dl Departmentaily Relaied
* Standing Committee on Finance

& 2 only

Both 1 and 2 5
113. Which one among the following is

' Neither 1 2 not a constitutional body in India?
’ eIner nor

111. Sevgrai nationaiist leaders in India fa} Comptroller apd  Auditor
te commeniaries on  the Generai

Bhagauvad Gita to argue the case

ethical foundaticn to Indian

t,:.ahsm. Who among the {b} National Commissioner

Linguistic Minorities
i Aurohindo
fef Nagional Commission  for
tma Gandhi Scheduied Castes
{c! Bal Gangadhar Tilak 1

{d} MNational Human Rights
fdf Rammanohar Lohia Commission

Q-DETA-N-HEL{444 16




110. TEE 9 o Swwt § & e 3

wd B T

1. Ut gEe agr Bt owm
Fad i gEE 9 9o vl B AW
I i ot agr dgor arad
TEw B S ¢

2. UEd @Sl H g5 B W I
TEFE BEET w1 WiE A Sl
T JEIST A TR

4% Ty o e W oW oW oad T
i

il FaT 1
fb) HEA L
e} 132 EE

] Far1amade

111, wdn wEaR 5 Afouts onuw ¥ gw &

J-U

7% TEE B & Ay 9Fs § o T
Ymsit 3 et W dee gt @R S
F47 TH TR B 7

o & ¥E=

by wEwHT Wi

fe) AR IR TR

fe) TEEEL St

ETA-N-HFL{44A
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112, wiler T &t Profdfes 4 @ fem o

afifs & o= vy & A uem A
B 27

fa) T o ofdly

/bl TreRea =R

fe} wTEHT I wEfE

@y Fwrfim w0 4 =g fEa-frees
Tt uily

113, wia A FefafEe & 7 w4 & qduts

fFrapr i 27

fa) T o vareha wie

fb} TR TR AT ITRHETE

iy ¥ sgEaa Wi WEm

() T STENTEEE STEm

1B.T. O



114, Consider the following stalements :

115.

1. The anti-defection law bans an
elected member from voting
againset the explicit mandate of
his/her party.

2, The anti-defection provisions
do not apply if one-third of the
members of a party disobey
the mandate of the party and
constifute themselves as
BCpaEraie party.

Which of the statements given
above isfare correct?

fa} 1 only
fb) 2 omnly
fc} HBoth 1 and 2

fd) Neither 1 nor 2

‘The Constituent Assembly of India
convened tao Drepare the
Constitution of India appointed a
sub-commitice headed by Gopinath
Bordoloi. Which of the following
recommendsilions was/were made
by the Committee?

1. Fifth Schedule for the Norih-
East Frontier (Assam) Tribal
and Excluded Aress

2, Constitution of District Councils
in all autorlomous districts
af Assam

3. Sixth Schedule for the North-
East Frontier {Assam} Tribal
and Excluded Areas

4.  Demarcation of territories in
North-East India

Q-DETA-N-HFLj 444

Select the correct answer using the
code given below.

fal 1 oniy
(it 1,2 and 3
{fe/ 2 and 3 only

(dj 4

116, How does participatory budgeting

seek 1o make the functioning of
lacal governance institutions more
transparent and accountable?

1. By allowing citizens to
deliberate and nepgotiate over
the distribution of public
resgurces

2. By allowing citizens to play a
direct role in deciding how and
where respurces should be
spent

3. By allowing historically
exchiged coitizens with access

tc mportant decision-meking
venues

Select the correct answer using the
code given below.

fa} 1 and 2 only
(b} 2 and 3 only

fc} 3 only

{d} 1,2 and 3




114, Srflan st w feare i A4 fan My gz W oyam w @t Im
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117. Janam Suraksha Yojona (JRY) was

proposed by the Central Government
under the overall umbrella of
National Rural Health Mission
(NEHM}. Which of the {ollawing are
the objectives of the schame?

1. Provision of better diet for
pregnant women from BPL
families

2. To reduce ayerall wmaiemal
mortaltty ratic and  infant
montality cage

3. To provide cash assistance
with antenatal care during the
preagriancy period

4. To provide institndonal care
during delivery and immediate
postpartum period in a health
centre

Select the cotrect answer vsing the
code given helow.

fal 1,2,3 and 4
fB) 1, 2 and 3 oniy
fe} 1 and 4 only

{dl 2,3 and 4 only

118. Who amangst the follvwing was put

on trial for genocidal war at the
United Nations International War
Crime Tribunal?

{aj Auguste Pinochet
bl Paul Kagame
fe}  Sicbodan Milosevic

fd) We Win

Q-DBTA-N-HFL{44A

119. Which one among the following

couniries redefined the principles
of Pancashila’ for the purpose of
domestic politics?

fa}) Ghana

fb) China

{¢! Indonesia

fd} Sri Lanka

120. The Parliament of India passed the

Panchayats {Extension to Scheduled
Areas} Taw populariy known as
PESA Law. Which one among the
following  siatements regarding
PEBA Law is not correct?

fu} PE3A was meant to provide
setf-governance in the
scheduled areas

fby PEBA  disempowers  Gram
Sabhas

{fc/ FPESA protects the interests of
the tribais

{d) PESA conducts public hearings
to protect inheritance rights of
the tribals
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Note - English version of the instructions is printed on the front cover of this Booklet.
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